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€~ 2) Let the linear model Y = X + € where X has full rank p, F(e) = 0and
Cov(e) = o®I. Then for a large class of iid error distributions, what is the limiting
distribution of \/n(3 — B)? Hint: use the least squares central limit theorem.
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3) Suppose Z, > Ni(p,X). Let A be a constant r X k matrix. Find the limiting
distribution of A(Zn — ).
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3) Suppose Y* ~ No(XB,02I n). Hence Y;* = x7B + ¢ where E(ef) = 0and
V(ef) = o%. Hence AY* ~ N, (AX B, 2AAT) if A isa g X n constant matrix. Recall
that X is an n X p constant matrlx Simplify-quantities when pc possible.

. a) What is the dlstrlbutlon of ,@ (XTX ) L XTyY*7

o 2 ™
.. - b) Using a), what is E(ﬁ*)?
E
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¢) Recall that X3 = PY. What is the dlstrlbutlon of /BI (XTX )1 XTy*
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